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‘Govtshould give only revenue-neutral stimulus®

With less than a month for the Budget presentation, VIKRAM KIRLOSKAR, new president of the
Confederation of Indian Industry, tells Subhayan Chakraborty & Indivjal Dhasmana that the
corporation tax rate could be reduced to 18 per cent if exemptions are removed. Similarly, he
suggests a reduction in personal tax rates. Edited excerpts:

Given the weak economic condition, what
would be your recipe to Finance Minister
Nirmala Sitharaman for the Budget — to
perkupthe economy or be fiscally prudent?
We can't widen fiscal deficit. Asacountry, we
havebeen doing very wellto contain the
deficit. Allthis consolidation has protected
our country. Wenow can’tletsome of these
gooff. Normally, when you are resource
constrained, thebest wayto perkupthe
outputistoremove bottlenecksinthevalue
chain. That'swhy we have suggested the
government looks at the bigemployment
generatorslike tourism, agriculture,
construction, and retail. Weneed to put
someone with enough domain
knowledgein charge of these
sectorstoidentify and removethe
bottlenecks.

Inaway, are yousayingnotoa

fiscal stimulus?
Tamnotsayingnotoafiscal stimulus. -
Whatever the government can afford todo,
should be done. The government shouldn't
gobeyond what it canaffordto.

So, are yousaying that the government
should maintain fiscal deficitat 3.4 per cent
of GDP aswas given in the interim Budget
for FY20? But, the CII's 100-day agenda for
the government s to cut the personal
income taxrate forlower strata. How are

these two possible?

We've suggested the government increases
thethreshold forincome taxexemption toZ5
lakh. But, we are alsosaying that exemptions
should beremoved. So, thetwothingsare
possible.

Butinthe interim Budget, it was announced
that tax credits would be given till ¥5 lakh of
taxable income, which meansthatincome
of even over 35 lakh could be tax-free...
Weare saying that the threshold should be
increased. We are alsosaying thatiftax rates
arereduced, reduce exemptionsaswell. On
the corporateside, Idefinitely feel thata
reductionintaxes, as well astax
exemptions, isrequired. Our
calculationsshowthat if weremove
all exemptions, we can be revenue
neutral atan 18 per cent tax rate. We
want arevenue-neutral kind of
stimulus.

Your agenda paperalso talks about multiple
taxes on equity. What is your suggestion in
thisregard?

First, you can't grow the economy on debt.
Wealready have toohigh adebtinour
economy. Ontheotherhand, equityistaxed
atavery highrate--whetheritsdividend tax,
taxbefore dividend, tax after dividend, taxin
the hands of the receiver, capital gainstax,
andsoon. Ifthetaxoninvestments madeis

s
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STIMULUS. WHATEVER THE GOVERNMENT
CAN AFFORD TO DO, SHOULD BE DONE.
THE GOVERNMENT SHOULDN'T GO
BEYOND WHAT IT CAN AFFORD TO

higherthan that on one's salary, noone will
undertake therisk of being an entrepreneut.
Ifinvestments are not made, how will assets
becreated?

So, whatcanbe done?
Taxesoninvestments, includingthe taxes

ondividend, aswell asthat on capital gains,
shouldideallybe eliminated, oratleast
reduced substantially.

Inyour earlier suggestion, you wanted
exemptionsto goand taxratestocome
downsothat these become revenue neutral.
Butin this case, howwill the government
makeitrevenue neutral?

Thismay not makeitrevenue neutral. It’sa
tough call, but that’sa finance minister's job.

The government could not clear the land
acquisition Bill in its earlier stint. Do you
think itshould make an attempt now, witha
bigger majority in Parliament?
Idon'tthinkland acquisitionisstill easy,
even forland whichhasbeenacquired by the
government. It would be difficult toacquire
land with the UPA'sland Bill.

What about the securities transaction tax?
That's okay.Ithink the taxon investmentsis
moreimportant, right now.

There are speculations that the inheritance
tax could berestored in the Budget. What’s
yourtake ontheissue?

We haveto see whetherit will discourage
investments or not. Itshouldn'tberestored
atthisstage oftheeconomy when we want it
togrowat10 per cent ayear. It'sadifferent
storyin western economies wherethey are
happy with 2-3 per cent growth, but it won't
behelpful for us. Thiskind of taxes will
discourage entrepreneurs.
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